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	SUMMATIVE ASSESSMENT – II (2014-15)
â´·¤çÜÌ ÂÚUèÿææ -II
SCIENCE /çß™ææÙ
Class – X /·¤ÿææ - X
Time allowed : 3 hours						Maximum Marks : 90

 (i)	The question paper comprises of two Sections, A and B. You are to attempt both the sections.
(ii)	All questions are compulsory.
(iii)	There is no choice in any of the questions. 
(iv)	All questions of Section-A and all questions of Section-B are to be attempted separately.
(v)	Question numbers 1 to 3 in Section-A are one mark questions.  These are to be answered in one word or in one sentence.
(vi)	Question numbers 4 to 6 in Section-A are two marks questions.  These are to be answered in about 30 words each.
(vii)	Question numbers 7 to 18 in Section-A are three marks questions.  These are to be answered in about 50 words each.
(viii)	Question numbers 19 to 24 in Section-A are five marks questions.  These are to be answered in about 70 words each.
(ix)	Question numbers 25 to 33 in Section-B are multiple choice questions based on practical skills.  Each question is a one mark question.  You are to select one most appropriate response out of the four provided to you.
(x)	Question numbers 34 to 36 in Section-B are questions based on practical skills.  Each question is a two mark question.

	

	
	
	Öæ»-¥ /SECTION-A

	

	
	1
	Make the two possible carbon skeletons with five carbon atoms.

	1

	
	2
	Which trait will be observed by the offspring when it receives two copies of traits ?

	1

	
	3
	Name the gas which is produced due to incomplete combustion of fossil fuels.

	1

	
	4
	Name the type of mirror which is known as showing mirror. Give relevant  ray diagram to justify your answer.

	2

	
	5
	With the increasing human population demand for the resources has also increased at an exponential rate. What can be done for management of our natural resources ?

	2

	
	6
	Design a food chain in a forest comprising of three trophic levels.

	2

	
	7
	A colorless organic liquid ‘X’ has no action on any litmus paper and is used as a nail polish remover. Another colorless organic liquid ‘Y’ of molecular formula C2H6O is used in tincture of iodine.
(i)	Identify the functional group present in ‘X’ and to which homologous series does ‘Y’ belong ?
(ii)	Write the name and chemical formula of C2H6O.

	3

	
	8
		
(a)	Give chemical tests to detect the presence of 
	(i)	Ethanol			
	(ii)	Ethanoic acid
(b)	Why ethanoic acid is called glacial acetic acid ?

	3

	
	9
	Ùæ× ÎèçÁ° Ñ
(a)	ÏæÌé çÁâð ¿æ·ê¤ âð ·¤æÅUæ Áæ â·¤Ìæ ãñÐ
(b)	ÏæÌé Áæð ·¤×ÚðU ·ð¤ ÌæÂ ÂÚU Îýß ¥ßSÍæ ×ð´ ãæðÌè ãñÐ
(c)	ÏæÌé çÁâ×ð´ 3 â´ØæðÁ·¤Ìæ §Üð€ÅþUæòÙ ãæðÌð ãñ´Ð
Name :
(a)	A metal that can be cut with a knife.
(b)	A metal that is liquid at room temperature 
(c)	A metal that has 3 valence electrons.

	3

	
	10
	Locate the position the in periodic table of the following elements on the basis of their properties:
(a)	An element which is an inert gas with atomic number 10.
(b)	An element which is tetravalent and basic element of organic chemistry.
(c)	A soft metal stored under kerosene and cut with knife.

	3

	
	11
	Mendel crossed a pea plant having inflated green pod with a constricted yellow pod.
(a)	What type of a cross is it ?
(b)	What type of plants are obtained in F1 generation ?
(c)	In F2  generation the phenotype ratio is 9 : 3 : 3 : 1.  State the rule for the inheritance of traits observed by Mendel.

	3

	
	12
	A child questioned his teacher that why do organisms resemble their parents more as compared to grand parents.  In which way will the teacher explain to the child ?

	3

	
	13
	Diagrammatically represent the process of germination and label the following parts. 
(a)	Part responsible for production of male germ-cells 
(b)	Part which encloses the female germ-cell inside and later on forms the fruit.

	3

	
	14
	Explain the process of spore formation as seen in Rhizopus, with the help of a labelled diagram. 

	3

	
	15
	
Label the parts A, B  and C and write their functions. 
[image: 08]

	3

	
	16
	
Name the four parts labelled as 1, 2, 3 and 4 in the given diagram of human eye.  State the function of pupil of an eye.
[image: 1.jpg]

	3

	
	17
	One half of a convex lens is covered with a black paper.
(a)	Show the formation of image of an object placed at 2F1, of such covered lens with the help of ray diagram.  Mention the position and nature of image.
(b)	Draw the ray diagram for same object at same position in front of the same lens, but now uncovered.  Will there be any difference in the image obtained in the two cases ?  Give reason for your answer. 

	3

	
	18
	Ram was studying in class X in a fully air-conditioned International School, and Mohit was studying in a village school. The school building of Mohit was surrounded with, trees and greenery. There was a roof garden and well maintained rose garden in his school. Once they met at a function and Ram started boasting about his school. When Mohit explained how his school was better, Ram agreed.
(a)	What reason could Mohit have given that convinced Ram?
(b)	What are the ill effects of using air conditioners, refrigerators ?
(c)	What does UNEP stand for ?
(d)	Name the chemical whose production was banned in 1986 by UNEP ?

	3

	
	19
	Describe the addition reaction of carbon compounds with its application. State the function of catalyst in this reaction. How this reaction is different from a substitution reaction ? Explain with an example.

	5

	
	20
	 In organisms, some changes pertain to body cells and are not inherited whereas some changes pertain to germ cells and are inheritable.
(a)	 Name the two types of variations respectively.
(b)	Explain the two ways by which individuals with a particular trait may increase in a population.

	5

	
	21
	Justify the following statements :
(a)	Variation is beneficial for the species over a period of time.
(b)	New offsprings produced are similar to their parents  but not identical.
(c)	Binary fission is different in Amoeba  and Leishmania.

	5

	
	22
	Explain how rainbow is formed.  Draw a labelled diagram showing the different phenomena of light which occur in the tiny water droplets after rain shower to produce a rainbow.  

	5

	
	23
	 (a)	State laws of refraction. 
(b)	A converging lens forms a real and inverted image of an object at a distance of 100 cm from it. Where should an object be placed in front of the lens, so that the size of the image is twice the size of the object? Also, calculate the power of a lens.  

	5

	
	24
	a)	Draw a ray diagram to show the refraction of light through a glass prism.  On the diagram mark. 
	(i)	Incident ray			(ii)	Emergent ray and	
	(iii)	Angle of deviation		
(b)	What will happen when a white light is focused on a glass prim ?  What is this phenomenon called ?  Explain with the help of a diagram. 

	5
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	25
	When soap is prepared by cold process, a small amount of Sodium Carbonate is added to :
(a)	make the soap porous 	(b)	increase the pH
(c)	make the soap hard		(d)	decrease the pH

	1

	
	26
	 (a)	‚Üê·¤æðÁ				(b)	‚Üæ§·¤æòÜ
(c)	ç‚ÜâÚUæòÜ			(d)	çÁÜðçÅUÙ	
Ritu performed saponification reaction and after the reaction was complete, her test tube appeared as shown in  the following figure :
[image: 15 SC2 506-575 (1).jpg]
Substance “X” is :
(a)	Glocose			(b)	Glycol	
(c)	Glycerol			(d)	Gelatin	

	1

	
	27
	Naina’s school shirt was spoiled due to leaking pen kept in its pocket.  Her mother told her she will wash it and the stain will disappear but to her surprise despite rubbing the cloth for a long time with washing soap, the stain still remained.  The possible cause could be :
(a)	The water used for washing was soft
(b)	The water had dissolved sodium salts
(c)	The water had dissolved calcium salts		
(d)	The water had dissolved potassium salts

	1

	
	28
	Two convex lenses A and B have same aperture with thickness 1 cm and 
1.5 cm respectively.  Then
(a)	fAfB				(b) 	fA> fB

(c)	fA< fB				(d)	fAfB	

	1

	
	29
	
In an experiment to find the focal length of a concave mirror, a graph is drawn between v and u.  Choose the correct graph from the graphs given below ?  
[image: 3.jpg]
[image: 4.jpg]
(a)	A		(b)	B		(c)	C	(d)	D

	1

	
	30
	After performing the experiment to trace the path of a ray of light passing through a rectangular glass slab four students measured angles i, r, e as per the alongside figure shown below. the correct
relation :
	[image: Description: 11.jpg]
(a)	i >r			(b)	i >e
(c)	i <e			(d)	i r

	1

	
	31
	The angle between two lateral faces of a triangular glass prism is called:
(a)	angle of incidence 		(b)	angle of prism 
(c)	angle of emergence 		(d)	angle of reflection  

	1

	
	32
	Identify which of the following is an analogous organ of thorn.
(a)	tendril					(b)	spine
(c)	flower					(d)	leaf

	1

	
	33
	 Shivani wanted to distinguish between the seeds of Maize and Bean. The identifying feature which she should look for is :
(a)	number of cotyledon		(b)	size of cotyledon
(c)	presence of embryonic axis	(d)	presence of plumule

	1

	
	34
	On adding acetic acid to solid sodium hydrogen carbonate in a test-tube, what colour and odour of the gas evolved would be observed by a 
student ?  Name the gas and how this gas can be tested ?  

	2

	
	35
	A student was asked to identify a difference in the nucleus of Binary fission in Amoeba and budding in yeast.  What would be the possible correct difference identified by her ?

	2

	
	36
	Redraw the following incomplete ray diagram of the object placed in front of the convex lens and complete it 
[image: Description: Untitled art 6.jpg]

	2
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